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Tf"rwfa-k turn D

Class: 11
SECOND MID TERM TEST - 2024
Time Allowed : 1.30 Hours] MATHEMATICS ' [Max. Marks : 50
Part-I
Answer all the Questions: ) - . 1QX1=10

1. What must be tEie matrix X, if 2X+ [1 2] [:; g]?

@r[‘é 2l 2[; = 3) [i )l 45 [i :g]

2. If the points (x,-2) ;(5,2), (8,8) are collinear , then x is equal to

1)-3 2)1 \ 3)1 | @4 N

: i 0 a -b]
3. The value of the determinant of A= [—a 0 ¢ lis
‘ b —c 0 '
- ‘1) —2abc 2) abc @)/04 - 4)at+bic?
— - - - . .
4 Ifa+2band3ad+mb are parallel, then the value of m is
13 -l 6ré 4 <
5. A vector makes equal angle W1th the posmve d1rect10n of the coordinate axes. Then each angle is
equal to .

1) cos® (_) 2) cos"(z) Wos-' ( ;/1__ ) ¢ 4) cos"(%)

6. If Al + 2A7 + 2/175 is a unit vector , then the value of dis

1
3 2) - 3) = 45
. sin@ ' E
7. El)l_lg o = @ﬂ/ : 2)0 3)_°f' 4) oo |
xli"g lx] = 1)2 2)3  3)doesnotexist  4)0
. 1 2 '3 n s
9. lim ;;+F+n2+ ........ Z) is @ 20 3)1 4) oo
10. Atx = —the function j(x) = sz xSy '
1) continuous : ﬁontmuous 3) differentiable ‘ 4) non — zero
. ' Part-ll ' :
Answer any four Questions, Q.no:16 is compulsory. 4X2=8

11. If A= [é ‘11], then compute A%, T1.]1— 03-)

x—1 x x—-2
0 x-2 x-3|=0 eﬂ Tl

12. Find the value of x if
' ' 0 0 x-3

13. Find a unit veetor along the direction of the vector 5t — 37 + 4k. £3 © & .4

14. Find |T1)x3|,where—d’=33+4j‘and b= i+j+k E(? 1 8.20
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I5. Prove that f{x) = 2x* +3x — 5 is continuous at all pointsinR. 4.5 —= LD
16, Bvaluate : lim 22222 Qq, = 14

x=0 X
Part-lll
Answer any four Questions, Q.no:22 is compulsory. 4X3=12
0 c b|* |b2+c2 ab ac
17.Showthat[c 0 a|=| ab c?+a? bc Eg T.23
b a 0 ab bc a? + b2 ’

I8. Show that the points (a, b + ¢), (b, ¢ + a), and (c, a + b) are collinear.. Eg A Lo
19.1F|d| = 5,|b| = 6,|¢| = 7andd@ + b +&=0,fndd.B+B.c +2.4. 8.2 —-(C8)
20. Find the angle between the vectors 51 + 3f + 4k and 61 — 8f — k Eg8- 16

4x+5 ifx<3

21. Find the poi i inui " = v i
ind the points of discontinuity of the functlon J; where f(x) { 4x -5 ifx N3 5230 |

22. Evaluate : lim x—”)x(C 7\!1.616-“"6>

. X—w0 -1/ . S
. Part-lv '
Answer all the Questions: : 4X5=20
2bc—a? c? b* a b cf

‘2.(2)Showthat | ¢*  2ca-b*  a&* ' |=|b ¢ a| (OR) Eg:1.29

- - b? a’ 2ab-c’ ¢ a b

(b) If ABCD is a quadrilateral and E and F are the midpoints of AC and BD respectively, then
provethatﬁ+ﬁ+§+ﬁ=4ﬁ 8-"‘?"‘0—)' ' "

24. (a) Show that the points whose position vectors 4f + 5§ + F, —j—Fk31+9 7 + 4k and
~4i + 4f + 4k are coplanar. (OR) 9.9 —> (O

sin@

(b) Prove that éi_r‘rcl)T; 1
25. (a) Evaluate : JI‘L]’I&M—H’;S—M ©R) 9.y, > 28 B

3o 1+a 1 1 ( 11

() Provethat| 1 1+b 1 [=abc 1+=+=+=) 7.8 —°

1 AN+ e ;) : A
| @+r?  p* . p2 ‘
26. (a) Prove that |4|=| g2 (r + p)? a* | =2pqr(p +q +1)® (OR) Eg:l.a5
, r? . (p+q)?

(b) Three vectors d@,b and & are such that ld] = 2,|B'| =3|6l=4and d+b+2=T0.
Find4d.b+3b.c+3¢d 8.2 =>Iy ' ‘

o TPR/11/Mat/2

n
[
L}

Kindly Send Me Your Study Materials To Us Email ID: padasalai.net@gmail.com



https://www.padasalai.net/
https://www.youtube.com/@Padasalai-net

www.Padasalai.Net www.TrbTnpsc.com

.. _ | B¥e | TR
[O) D[ ] @ _ Loy K M 1Al = b ct+a ‘x+2 n-4+3\ ¢ +3\. (PWDP)
! axb =13 , o 'Hoa 2~ S0
@“') & byl oo .Letr * ‘—3’5eww’ﬁwq-—sﬂnm £ 0% g
D o = ul-gf R | 2|0 b (—f:) 34 v%)w W T Taom R
— . \ m . 1
atbtc cuq | C=CHC, _ 3 =7ng° ssna (t—cosw)
@ D b & <el = J2% Q4bte  Ofb : ¥ 3 ao(‘+5) =it & 1-13015;1. S
N 3 “lk__.(t_“__‘
=\ : = i) :g 1')° o m—aozussqum—w "
Cos (L @ :@'FE-FC) | bte /2
B R 2 1 Cta (2.3 z4is=[ @b C a be C\) u? -
m Lo = 2K, +2A =5 e ‘ /bca. ’bc& "=
@ I)_ ADUo - e + { cab cab ‘éEB)LHS- a —b o RR;
3 '?‘Xo)_ = ,_IO«LC)XC)Q;,C_ o b —c iy
' g T e Cca S e ab i | 98,
@D | ~o fox) & cont ab F‘;”Pt’mﬁmw(’hmah. c abv {bca’ b khe
all SPo‘m\Z in K. — ~fa b ¢ Al — =a[btre) +¢)+ be
@ 2) does nit _eoust S (a"Fb-F'E) “BL [bc al | ¢ &« b =abe (t+-L+L+d) = Rus
@b & 2 B0 | 5% 52 |2 f [ C'MR b o & €D Takiy peo,9-0,750
— m tomax_ | 202 [al b+l S e .y —=| =Rus.[ e
‘2-6 A0 g "mgo c;sp,x Hjli+§Co:b+£-C4c-a):o ( - 11 [5) [m atate case]
@ 2 duseontinweis Ny TN 2 | 0. 540 com ML o g@zb ® L - P Tk;f"i"';w o Qaclow 53 14|
S = P anes <) “kifg prysT=o,
@ A- an] A0 o oo by @ Cosb o BB 3. ABaAD ay Al | P P’L r!_
o ! =Q) 2 _ T fB1AD= 2AF 179 3> =0
o — =3 tal\b T P
A .,‘_[ J.\.(l.] OUZ'SCO) e ’J__‘ «J;_ _TnACBC.,ﬁ A T 7 ¥
0 Vo = = £ = SBHC 5 R tp=2CF| P PYY - L
PP R @L foch Py = s F Py = Pa Cpraer) ua%acﬂi-r
) (- Dea-206-2)=9 P on]x|e o ” w‘ * [Enpker, | o Fimhiin
X ?_b a o b a o O = o3 EF= CT+_F:> cerae=ger |Al= KcPﬂ‘f"*)P"tz'*CPﬁﬂ)
>%x=.,2,2 _| O+C4p o;—om\-;_ otacto || , S-\T(T i ABAFDATE4ED = ACAEACE)| &ﬂtruw
®) &-a oFotok Crod petoto @) s Chres) = 1 . =BBED & jue-gus.
’a’ O;M:_ befoto  Bridso € (hns) = AB =3 Best CB G4b) e
- 5 = | ab ac | - "1‘93g =) = 35Tt=-t o | Svin@O),| = - n*’ R
— [ —-BJ +J+k ba c,z-[—c?' be :RHS .x_as-‘.'FC‘l) :": lt_ PFCX) tos—6t= ~{ -2 (:‘27' C.a '—‘_T
v 50 ca cb b £ & Aiseont. mb med T N0 —cou A E BB THIT T = AL

Kindly Send Me Your Study Materials To Us Email ID: padasalai.net@gmail.com



https://www.padasalai.net/
https://www.youtube.com/@Padasalai-net

